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A vessel cannot be Mehtahmay a vessel — 99> Naun Y9 PN

OVERVIEW
X237 explained that the 20 could not received 82w from the vrn since XAVA ¥ PR
"3, Our Md0IN qualifies the assumption of R2M.
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And X211 disagrees with 5''% who establishes this 71w by a v which touched a
n» Xnw, for that “92 can be X»wu» another 93, so how can X217 say *25 Xnvn 93 PX -
$MION N9 NIV 311)9 993N7 Y0 Y299 NN
But rather X217 maintains like 01 '3 who stated that the 71wn is discussing a case
where for instance it was a muzzled cow.

SUMMARY
The needle was found in a muzzled cow which came from outside 27w,

THINKING IT OVER

Why did not X217 say that the 120 cannot become Xnv from the vin because it was a
2"7772 AR™I PO0 (the 77TV is a 1"77) whether the 1720 touched the vnn or not, and in
this manner he can agree with both 777° 21 and oy '1?°

! The metal needle touched a n» Xnv and it became also a N N1, an XML 2R (on account of 9913 X7 77 27M; a
metal *75 which touches a ni or a N XnWY receives the same level of 8™ as the Xnwn).

* A *93 can be " ixmw Yapn from a Ny or from any XMV AX; it cannot be N"in aXHIL 92pn from a WK or less.
3501 ' gave this interpretation, for otherwise there is a ruling that there is no X on 2°>w11°2 093 poD, therefore
we have to establish the 71wn in a case where the 779 was bought to 0°7w17° muzzled, so the 0°%5 poo was not in
25wy, In any event there is no indication that it touched a nn RXnv, therefore it cannot be Xnun other 0°%2.

* See 87 7"7 1" and wan Np.
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